ANEEE v & — R4 ASH7H4 A 1 HEH
1 RZ— ) — AR
(BT - 1)
X5 AT 55 F B
| MHE=E 1HF [ 1,530
B Fnea L 450
bR Fn=EB 15[ 4501
L LA
& S L EE AT O 16 2,460
3
D DHE 1{\ 3, 370
1A
ZN 4 T LIRE [ 1,530H
=z
H
fify | e LI [H] 76014
. . Hif
R — >\ "
{zt_( % H El/‘j 7 6iE|/EI\ SEl]
sk o ZoftoF LR 1,530
I v
eS|
=] j:El/El\ ’
71 Z DA DY . 3, 060H
_ _ LA
F =2 a— h L 3001
f % HH)= 1EERH 1,990
7
Y| SEe=EA 1R RS 760
.
B | 2H=EB 15 7604
bz
M| PL—=v271—A 1] 420
k=
1 ZORCBWT TIRE - A% &%, SRR, DNERORER L ITHhERE L<
TESEEROEREIZ N OICHEY T EH5 20 ),
2 fEH O 0l K OFUREIE O R, FIH RIS T,
3 FIABERN 1 BRI 220 X%, Zhad 1l E 5,
4 FM=ETHEATIHIHEOMHENL, FHERMOERE L FgEE 5,
5 SEARMOFOEREL, HELET D,
6 EEUKE, FEMEIEEIT, EBHEZEINT D,
7 WMEOHAEZITTC, HATED DM AU OB BT L —=2 71—
LAEMHEHT 2560 1470 o HEO%EIE, 140MHET 5,
8 ZHMIZ I NEOT Ty NEHBZ R BMIZHERT 2546 OS50 HIf% 26 H

BHE, ZOFRDOSEET 5,

1/4



ANEEE v & — R4 ASH7H4 A 1 HEH
2 Fy 7V
(BT - 1)
X 45 AL 15 A 1 5
WaR7T > b (10 ANH) 1R 4, 600 1 fEHD =D O %S kO
JFR R o BERE, R
7 —5 v M A b 11X 300 e & Te,
2 MRF¥YLr77714%
7w (100 H) 1 18, 450 — S ORI, 35
ML E T 5,
B 48 H = A 1Rz 760 3 FI I IRE R 23 TIRE R (2 9 7=
BN EEE, Thalir
B 4 =B 760 LRI
4 BRER EAMERER, 5
7T 7 NERE LA 1= 70 REBIT 5.
WMRKFY 7774 Y — E]| 1,530
P06 27— 1B 3,070
PN F o — [ 10H] 600

2/4




BAER e Y 5 — R AT 4 H L EEH
3 T RRUF vy —V—fEAE
(HAL : H)
X 5y = <R\va 5 R k=
A | & 3k LA I 1A 1A 1,230 1 SRR OF O E IAEHE,
v =R A et 35,
% LR o 2 D=8 O UeEfR K VR
7 = RIEE O RERI X, F R
. Z Ofh 2, 460 (==L,
v Dk 3 BT 2 W I 4 A
v DYTER 1T 1005 A —
R [ 6 11 L3 i) 760 MR X3, Th
%= (OR) 115 R 610 Z 1IRFfE] SLIZ 1005 A — b
. nET D,
HREE Oh) POy e hxrrTBOTY
INAF =TT b A LIXC {8 300 — A b O ARHE, il
| R A R 1 i 4, 600 IBIZ2&E T MES &
D, ™ 3 810 L, 7¥ h&2EL B E
Moow - ’ T2 EE, 1RICSE300
* MznE+ 2,
. RALH 7,680 | 5 CRAVHLE &L, B YA
y i R U2 A B 72U LR 00 HL i 2
7| mER R 1] 1,530 AR
1 6 F—hrFxx o THGOMH
oy - - A 9 B (BEREABZRLS, )
. _ IO X, 2ANLRED2LAF
G A I B I TOME, FEET 5.
v AT ' T BMXHIROSA 7 R T AT
b - A, BRSO
- e B 5 2 28T X
~ z 210 U,
2) % 8 ZOEICHBNT [ -
- fi Ak LT, MR, b
7 % R ARG
ﬁ % U < 1755 54 o A 4R U
7 = A 4. 600 INHITHYTHEE WD
Do
ZHI A= 10075 150 1 9 Buxig, ~q 27 hFA4T 0
ﬂ:k” B35 H A — R B

I A B0 R 5 54
O Y4 B4 AT A 7
I, ZOROSELET 5,

10 BMXIEXIIZNA 7 FT4

TV OF AL HIZ O,
R - AP L
D D6 O EHT,
PRET D,

3/4




BANEE L v 2 —  Blek ASFT7HE4 A 1 H#EH

4 BN TR

BT krx

12/ A—F 10 210

1+
1 JREOREEPTIEL, TENEET D,
2 AR LHIMTEAEIC T B XX 1 FEH A= MV 2WiRnd 5 L X, £
D EZN TN 1T AT T EHFA— MV E LTEHEAET D,

4/4



